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PART - I : PRACTICE TEST PAPER 
 

This Section is not meant for classroom discussion. It is being given to promote self-study and self  
testing amongst the Resonance students. 
 

Max. Marks : 120         Max. Time : 1 Hr. 
 

Important Instructions : 
 

1. The test is of 1 hour duration and max. marks 120.  
 

2.  The test consists 30 questions, 4 marks each. 
 

3.  Only one choice is correct 1 mark will be deducted for incorrect response. No deduction from the total  
 score will be made if no response is indicated for an item in the answer sheet.  
 

4. There is only one correct response for each question. Filling up more than one response in any question  
 will be treated as wrong response and marks for wrong response will be deducted accordingly as per  
 instructions 3 above. 
 

 

1. Which of the following sets is empty set ? 
 (1)  A = {x : x ∈ N, 3 < x ≤ 4}   (2) B = {x : x is prime , 90 < x < 96} 
 (3)  C = { x : x is an even prime}   (4)  D = {x : x ∈ Rational numbers & 1 < x < 2} 
 
2. Which of the following are pairs of equivalent sets ? 
 (1) A = {1,2,3}  B = {3, 6, 9}   (2) A = {0}  B = φ  
 (3) A = {–2, – 1} B = {1,2,3}   (4) A = (x ; x ∈ N, x < 3} B = (x : x ∈ W , x < 3} 
 
3. Which of the following is false ? 
 (1) Set of all triangles in a plane is infinite set  
 (2) Set of all lines parallel to the y-axis is infinite set  
 (3) Set of all points on the circumference of a circle is finite set 
 (4) Set of all positive integers greater than 100 is infinite set. 
 

4. The set of real numbers x satisfying  is  
 (1) x > 2  (2) x < –1    (3) x > 2 and x < –1  (4) –1 < x < 2 
 
5. Number of digits in 650 is 

 (1) 38   (2) 39   (3) 40   (4) 41 

 
6. Solution of equation log(x–3) (4x –15) = 2 is  
 (1) x = 6  (2) x = 4    (3) x = 2   (4)  x = 6,4 
 

7. Solution set of log3  > 0 is  

 (1)   (2)     (3)   (4)  
 

8. If – 2x – 3 = 0, then x is equal to  
 (1) –1, 3  (2) 1, 3    (3)  3     (4) –1 
 

9. If x +  , then x4 +   is 

 (1) 41   (2) 47    (3) 49    (4) 55 
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10. Least integer satisfying  is  
 (1) x = –3  (2) x = –2   (3) x = 0    (4) x = 5 
 

11. If 9x2 + y2 + 6x = 2y –2 then 3x + y is   
 (1) 0   (2) 2     (3) –1     (4) can't be determined  
 

12. 7 log2 +  5 log2 + 3 log2    is equal to  

 (1) 7 log2   (2) 7 log2    (3) log2    (4) 1+ 7 log2   
 

13. The equation log3x = (9 log3 x – 15) (log3x 3) has  
 (1) Two integral solutions   (2) One irrational solution 
  (3) Two irrational solutions   (4) Prime solutions 
 

14. If log3N = 4 + β1 , log5N = 2 + β2 and  β1 1β2  ∈[0, 1)  Number of Integral values of N :  

 (1) 44   (2) 45   (3)  46   (4)  47 
 

15. If the solution set of   is (a, b), then  

 (1) logab = logba     (2)   =   
 (3)  b – 2a = 0      (4) All of these  
 

16. The remainder when x5 – 4x4 + 3x3 – 2x2 + x + 2 is divided by (3x + 2) is  

 (1) –243  (2)   (3)   (4)  
 

17. If x, y are integral solutions of 2x2 + 3xy – 2y2 = 7 then value of xy is  

 (1)  3   (2)   (3) –3   (4) 7 
 

18. If –6 ≤ log0.3  x ≤ – 4, then 

 (1)  maximum value of x is   (2) maximum value of x is  

 (3)  maximum value of x is   (4) maximum value of x is  
 

19. Least integer satisfying  is  
 (1) –2   (2) –3   (3) –1   (4) 0 
 

20. The equation   = 1 has 
 (1) Two real solutions     (2) Two irrational solutions 
 (3) One rational and one irrational solution  (4) Only one real solution 
 

21. If ,   the value of d is 
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 (1) – 40   (2) 40   (3)  28   (4)  52 
 

22. Solution  of 3.52x–1 – 2.5x–1 = 0.2  is not a    

 (1) Natural number (2) whole number  (3) Integer     (4) rational 
 

23. Complete solution of  is  

 (1) x∈(–∞, –1) ∪ (3, 4)    (2) (–∞, –1) ∪ (3, ∞)  

 (3) (–∞, –1) ∪ (3, 4) ∪ (4, ∞)   (4) (–∞, 3) ∪ (4, ∞) 
 

24. If maximum and minimum value of logx y is M and m where x∈{4, 5, 6, 7, 8} and  

 y∈{16, 17, 18,.........128} then  

 (1) M + m =     (2) M – m =   (3) Mm =   (4) M + m =  
 

25. Number of values of x satisfying logx5 + log5x =  is  

 (1) 1   (2) 2   (3) 3   (4) 4 
 

26. log2x = log 3 – log4 ,  log3y = log 4 – log2 , log4z = log 2 – log3, then xyz is equal to  
 log2x = log 3 – log4, log3y = log 4 – log2 

 (1) 24   (2) 18   (3) 1   (4) 36 
 

27. The expression  simplifies to  

 (1) 1   (2) 3   (3) 4   (4) 2 
 

28. A polynomial p(x) when divided by (x–1) and (x+1) the remainders are 2 and –2 respectively. If 

polynomialdivided by (x2 –1) then find the remainder.  

 (1) 4x + 3   (2) 2x    (3) 2x – 3   (4) x +1  
 

29. Solution of (log 100x)2 + (log10x)2 = 14 + log  is  

 (1) x = 10, 10–10  (2) x = 10, 10–9  (3)  x = 10, 10–9/2 (4)  x = 10, 10–11  
 

30. The expression  simplifies to  

 (1) 1   (2) 2   (3)  3   (4)  4 
 

Practice Test (JEE-Main Pattern) 

OBJECTIVE RESPONSE SHEET (ORS) 
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PART - II : PRACTICE QUESTIONS 
🖎 Marked questions may have for revision questions. 

 

1. If log50 96 = α  and  log50 (3) = β  then log502 is equal to  

 (1) α + β – 5  (2)   (3)   (4) α + 5β  
 

2. Which of the following hold(s) good 

 (I) logx2 = 2logx  (II) = 1  (III) log311 + log2 7 > 6 

 (1) only Ι is correct   (2) only ΙΙ is correct   (3) only ΙΙΙ is correct   (4) All are correct. 
 

3. If   = 27, then the value of   is 

 (1) 4    (2) 16     (3) 64     (4) 81 
 

4. If A = {1,{2,3},4}. Find which of the following statement is false ? 

 (1) {2,3} ∈ A  (2) {{2,3}}  A  (3) {1,4}  A  (4) φ ∈  A 
 

5. Which of the following sets are pairs of disjoint sets ? 

 (1) A = {1,2,3,4} B = {x : x is prime number, x ≤ 11} 

 (2) A = {x : x ∈ N , x ≤ 8} , B {x : x is prime number, x ≥ 3} 

 (3)  A = {x : x ∈ N, x is even} , B = {x : x is prime, x ≥ 4} 

 (4) A = {x : x ∈ N, x is odd} C = {x : x is composite number} 
 

6. If A and B are two sets containing 5 and 7 elements respectively, then maximum and minimum number 

of elements in  A ∪ B respectively are – 

 (1) 7,5   (2) 12,5   (3) 7,0   (4) 12, 7 
 

7. If A = {x : x is a prime number < 25} and B = {x : x is composite number < 20} then 

 (1) n(A ∪ B) = 20 (2) n(A ∩ B) = 1  (3) n(A ∪ B) = 18 (4) n(A ∪ B') = 9 
 

8. If P(A) denotes power set of A, then which of the following is correct  

 (1) n(P(P(P(φ)))) = 2    (2) n(P(P(P(P(φ))))) = 8 

 (3) n(P(P(φ)) +n(P(P(P(P(φ)))) = 18  (4) n(P(φ)) + n (P(P(φ))) = 4  
 

9. A' ∪ {(A ∪ B) ∩ B'} = 

 (1) A' ∩ B'  (2) (A ∩ B)'  (3) A'∩ B  (4) A ∪ B' 
 

10. In a survey of 100 students, the number of student studying the various languages is found as, English 

only 18, English but not Hindi 23, English and Sanskrit 8, Sanskrit and Hindi 8, English 26, Sanskrit 48 

and no language 24 then number of students studing Hindi are – 

 (1) 18   (2) 15   (3) 13   (4) 10 
 

11. The  number of positive integers from 1 to 1000, which are not divisible by 2, 3 or 5 are  

 (1) 266   (2) 265   (3) 267   (4) 734 
 

12. There are three clubs A, B, C in a town with 40,50,60 members respectively. 10 people are members of 

all the three clubs, 80 members belong to only one club . Then the number of members which belongs 

to atleast two clubs are  
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 (1) 20   (2) 30   (3) 55   (4) 40 

 

13. If n(A) = 12, n (B) = 15, If x and y are minimum and maximum value of n(A'∩ B) then x + y =  

 (1) 12   (2) 15   (3) 18   (4) 27 
 

14. If X and Y are two sets, then X  (X Y)' equals. 

 (1) X   (2) Y   (3) φ   (4) X Y 
 

15. If Na = {an :  n ∈ N} , then N3 ∩ N5 =  

 (1) N3   (2) N6   (3) N15   (4) N5 
 

16. The number of elements in the set {(x,y) : x2 + 4y2 = 45, x, y ∈ Z, where Z is the set of all integers} is  

 (1) 0   (2) 4   (3) 8   (4) 12 
 

17. If a set contains m element and another set contains n elements. If 144 is the sum of number of subsets 

of both sets then (m,n) can be  

 (1) 4,6   (2) 7,2   (3) 7,4   (4) 8,2 
 

18. Let X = {1,2,3,4} . The number of different ordered pairs (Y,Z) that can be formed such that Y ⊆ X, Z ⊆ X 

and Y ∩ Z is empty is  

 (1) 81   (2) 16   (3) 243   (4) 64 
 

19. An investigator interviewed 100 students to determine their preferences for the three drink : milk (M), 

coffee (C) and tea (T). He reported the following : 10 students had all the three drinks M, C and T; 20 had 

M and C; 30 had C and T; 25 had M and T; 12 had M only; 5 had C only; and 8 had T only . Find how 

many did not take any of the three drinks. 

 (1) 20   (2) 16   (3) 25   (4) 80 
 

20. Let X = {1, 2, 3, 4, 5, 6, 7, 8, 9}.  then total number of subsets of X having atleast one and atmost eight 

elements is   

 (1) 510   (2) 511   (3) 255   (4) 254 
 

21.🖎 Number of positive integral solutions of inequality  is : 

 (1) 3    (2) 4    (3) 5    (4) Infinite 
 

22. Consider the quadratic equation,  (log108)x2 – (log105)x = 2(log210)–1 – x. Which of the following quantity 

is irrational. 

 (1) sum of the roots    (2) product of the roots 

 (3) sum of the coefficients   (4) difference of roots 
 

23. All real numbers x which satisfy the equation 2 log2 log2 x + log1/2 log2  = 1 are 

 (1)   (2) 2   (3) 2,   (4) 9, 1  
 

24._ a,b,c are three distinct natural numbers (a < b < c) such that (a + b + c)2 is divisible by 7 then least 

possible value of 2a + b + 3c is  

 (1) 12   (2) 15   (3) 14   (4) 10 
 

25._ If f(x) is a three degree polynomial such that when it is divided by (x – 1) , (x – 2) and (x – 3) remainders 

are 2,4 and 6 respectively if f(4) is a even prime number then f(0) is equal to  

 (1) 0   (2) 1   (3) 6   (4) 4 
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26. Value at log4 + log4 + log4 ...........+ log4  is equal to :  

 (1) 1    (2) 4    (3) 3    (4) 2  
 

27. Solution of inequality  is : 

 (1) (1, 5)   (2) (–∞, ∞)   (3) (–1, 5)   (4) (–5, 1)  
 

28._ +  is equal to  

 (1) 2x    (2) 2x2 + 1  (3)   (4)  
 

29._ x = then (1 +x)8 is equal to  

 (1) 3   (2) 9   (3) 1   (4)  
 

30. If a + b + c = 1 , ab + bc + ca = –8 , abc = – 12 then –(a3 + b3 + c3) is  

 (1) divisible by 3 (2) divisible by 7 (3) a prime number  (4) divisible by 5 

 

31.🖎 If number of solutions of equation log3(1 + log3(2x – 7)) = 1 is λ then 4λ is equal to : 

 (1) 0    (2) 12    (3) 8    (4) 4  

 

32. Sum of all possible integral solutions of inequality   is : 

 (1) 9    (2) 6    (3) 3    (4) 1 
 

33.🖎 If 3x = 4x – 1 , then x =   

 (1)    (2)    (3)    (4)  
 

34. Value of   is : 

 (1)     (2) 5    (3)    (4) 1  
 

35.🖎 Number of solutions of equation log10(–2x) = 2log10(x + 1) is : 

 (1) 0    (2) 1    (3) 2    (4) 3  
 

36. Sum of all integral solutions of inequality   ≤ 0 is 

 (1) 2    (2) 14    (3) 1    (4) 5  
 

37.🖎 Value of expression log4 – 2log4(4x4) when x = –2 is :  
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 (1) –5    (2) –6    (3) –4    (4) 6  

38. Complete solution set of inequality 372   is : 

 (1) (0, 64)   (2) [0, 8]   (3) [0, 128]   (4) [0, 64)  

 

39. If solution of inequality log3  is (–∞, α) ∪  (1/α , ∞) then 2α is equal to :  

   

 (1) –4    (2) 4    (3) 2    (4) –2  
 

40.🖎 The value of   is  

 (1) 3   (2) 2   (3) 4   (4) 6 
 

41.🖎 The equation  = 3  has 

 (1) exactly three real solutions   (2) exactly one real solution 

 (3) exactly two real solutions   (4) no real solution 
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PART- I 

1. (2) 2. (1)  3. (3) 4. (4) 5. (2) 6. (1) 7. (3) 
 

8. (3) 9. (2) 10. (2) 11. (1) 12. (4) 13. (1) 14. (1) 
 

15. (3) 16. (2) 17. (3) 18. (3) 19. (3) 20. (4) 21. (2) 
 

22. (1)  23. (3) 24. (4) 25. (2) 26. (3) 27. (4) 28. (2) 
 

29. (3) 30. (2) 

 

PART- II 

1. (3) 2. (2) 3. (3) 4. (4) 5. (3) 6. (4) 7. (4) 
 

8. (3) 9. (2) 10. (1) 11. (1)  12. (2) 13. (3) 14. (3) 
 

15. (3) 16. (2) 17. (3) 18. (1) 19. (1)  20. (1)  21. (3) 
 

22. (3)  23. (2) 24. (2) 25. (3) 26. (4) 27. (3) 28. (2) 
 

29. (1)  30. (3)  31. (4) 32. (4) 33. (1)  34. (3) 35. (2) 
 

36. (3) 37. (2) 38. (4) 39. (1)  40. (3) 41. (1)  
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